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INSTRUCTIONS
Immediately after the commencement of the examination, you should check that this test booklet does not have any
unprinted or torned or missing pages or items, etc. If so, request for its replacement.
You have to enter your Examination Number on the Test Booklet in the Box
provided alongside. DO NOT write / mark anything else on the Test Booklet.
This Test Booklet contains three parts as shown below.

No. of | Marks Nature of Negative Marks
guestions guestions
Part — I 50 100 Obijective One third for each wrong answer
Part — 11 40 100 Objective One third for each wrong answer Except for Q. Nos. 85 to 90.
Part — 11l 1 100 Descriptive — -
Essay Writing

Each item is printed both in English and Marathi. Each item comprises four responses (answers). You will select the
response which you want to mark on the Answer Sheet. In case you feel that there is more than one correct response,
mark the response which you consider the best. In any case, choose ONLY ONE response for each item.
You have to attempt all questions from Part - | and Part-11 [Q. Nos. 1 to 90] from 11 am to 1 pm only. You have to
mark all your responses for this objective parts ONLY on the separate Answer Sheet provided.
At 1 pm the answersheet of the objective parts will be taken back from you and a separate answersheet for writing an
essay [Part - I11] will be provided to you. You will have to write the essay from 1 pm to 2 pm only. The answersheet of
essay will be taken back at 2 pm. Under any circumstances Essay writing cannot be started before 1 pm. and
attempting objective part cannot be extended after 1 pm.
Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet, you have to fill in
some particulars in the Answer Sheet as per instructions sent to you with your Admit Card.
After you have completed filling in all your responses on the Answer Sheet and the examination has concluded, you
should hand over to the Invigilator only the Answer Sheet. You are permitted to take away with you the Test Booklet.
You will not be allowed to leave the examination hall before 12 noon.
Sheets for rough work are appended in the Test Booklet at the end.
Penalty for wrong answers :
THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE in Part I and Part Il EXCEPT
FOR QUESTIONS FROM 85 TO 90, WHICH DO NOT CARRY ANY PENALTY FOR WRONG ANSWER.
i)  There are four alternatives for the answer to every question. For each question for which a wrong answer has been
given by the candidate, one-third of the marks assigned to that question will be deducted as penalty.
ii) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of the given answers
happens to be correct and there will be same penalty as above to that question.
iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty for that question.
Final result of this examination will be declared on or after 31.12.2014 on the website.
www.yashada.org/acec
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PART — I /4mT - 1

Question no. 1 : Which of the following is not a part of
world Bank Group?

1) IBRD (International Bank for Reconstruction

and Development)

2) IFC (International Financial Corporation)

3) IDA (International Development Agency )

4) ADB (Asian Development Bank) .
EC I HEJT SIAIfcIep ddvd! ged HeT
& ?

1) IBRD siiawgia gafafor e 96

2) IFC iaxTei I Agriss

3) IDA 3INaRTET fAprT |wrm

4) ADB 3Rt AT d6

Question no. 2 : Consider the following Statements about

the famous ‘Ibn Batuta’.

1) He was a Moroccan traveller.

2) He narrated his experiences while travelling the
sub-continent in the 14th century, in the book ‘Kitab-ul-
Hind’.

3) He was sent as the envoy by the Delhi Sultan to China.

Which of the statements given above is/are conrrect?

1) All of the above 2)land3
3) Only 3 4)1land?2
ueT . 2 : UNIE ‘ST Iga IrAasih @it fGum

IEEINGR I

1) &1 “ARis 91 yard g,

2) M 14 7 IIBM IUGSA A HRAFT AT AFHT
‘e -Sa-f2e” a1 dem He del.

3) T “foght Heama’ =T g FeULT el UrSfdet ef.

YAt Do/ fqum /= SRR 3R/ 3med ?
1) R qd R 2) 1 anfor 3
3) wad 3 4) 1 amfor 2

Question no. 3 : Which of the following statement/s is/are
true ?
A) Helium is abundantly present inert gas in earth’s
atmosphere.
B) Amalgum is an alloy of mercury with other metals.
C) Ozone is abundantly present in stratosphere.
DOnlyA 2)OnlyC 3)AandB 4)BandC
U9 . 3 : Wiellelddh! PIv U™ /3 T 3R/ ?
A) gform g1 gediean aTaRumd SR JHT0NT SMGWUIRT fsshig
Y, TR
B) URg firsior &1 AaRiSiaT SoR uTqeRieRaT st UTe TR
C) 313N g1 fRUATIRITE qaeles THTUT ST,
1)BFd A 2)Bwaa C  3) AamforB 4) B amforC
Question no. 4 : Find out the correct sequence of the
following planets according to size.
1) Mercury, Mars, Venus, Earth
2) Earth, Venus, Mars, Mercury
3) Mars, Earth, Venus, Mercury
4) Venus, Mars, Mercury, Earth

99T 5. 4 : Wicilel TgraT JMPRAR 37D $HH ATl

1) 34, &, gF, A
2) gft, 5, WIS, U
3) W, geft, o, U
4) g5p, T, U, gt
Question no. 5 : Which one of the following is the correct
chronological order of the formation of the following states
of the Indian Union?
a) Goa b) Nagaland c) Sikkim d) Uttarakhand
e) Chattisgarh
1)b,c,a¢ed 2)a, b,ced
3)c,b,ade 4)c,a,b,ed
9T h. 5 : Wicilolich! PV Ueh GIiT HRA FERISAT I aT
RISATT FHIATT PIATUTAR I 3L
) MaT §) ANeis &) RIEH §) SIREE  3) BNAG
1)9,, 3,8, 2)¥,9,%,3%, 3
3)$,9,3,3, 3 4)P, A,9,3, 8
Question no. 6 : Aam Admi Bima Yojana provides social
security to ........
1) all labourers in rural areas.
2) all landless labourers living below poverty line in
rural area.
3) all labourers in urban area.
4) all labourers in both rural as well as urban areas.

HeT . 6 : AT IMGHT AT TISFT ....... RIEISCARNENRI|
ENERS
1) YT YRS e stiffepiT
2) gt HTITler STRGE NeaTeitel d YHIEH AR
3) et YR W sifeieT
4) IO RIS TR TNt YT i siffeir

Question no. 7 : Amir Khusrau Played a pioneering role in
the development of .........

1) Khari Boli 2) Awadhi

3) Bhojpuri 4) Maithili
e ®. 7 : SR AT A ... Ire faerme AgT
SRR YfHepT FoTraet! ?

1) @St qelt 2) srgedt 3) WG 4) Afelt

Question no. 8 : Which of the following statements are true
?

A) Cations are formed from metals by loss of electrons.

B) Cations are formed from nonmetals by loss of electrons.

C) The important organic compounds such as acids, esters,
alcohols are formed from aldehydes.

D) Mass of an atom is distributed evenly within it.
1)AandD 2)AandC 3)BandC 4)CandD

U9 3. 8 : WieTicTudh! PIuK U™ e 3mea ?

A) $I g UIERT Soag QUIne daR grdrd.

B) 9 ¢ JNUNURIT Seidgid QUITe IR g,

C) e, Wy, Jfcdlgd et mgar dga g
SNfCSEISAURIT TIR HRATd.

D) 3MUD SRIAM SUHEY T THTO faavid Sietel ST,
1) A amfor D 2) Aamfor C

3) B anfor C 4) C emforD




Question no. 9 : Rubber production in Malaysia is facing
some challenges due to .........
A) old trees to extract rubber.
B) increase in production of artificial rubber.
C) emerging new countries in production.
D) use of rubber is decreasing.
1) A and D are correct.
2) Ais correct B is wrong.
3) B and C are correct.
4) A and C are wrong.
U . 9 : TARMIe YR U fafdy Mg e AR

A) TR ST & I Selel 7.
B) I &R IUCHTT dT6 81 3TTe.
C) Fd <o IUTEHIT TaeT IR MR,
D) &RTET IR HHT B 3.
1) A 3for D g SRR 3MR.
2) A g RIS 3T B g 98 IR.
3) B afir C g RIsR R.
4) A anifdr C g 9% aTe.
Question no. 10 : Match the pairs and choose correct

alternatives regarding National Commissions and their year
of establishment .

A B
(National Commission) (Year of Establishment)
1) National Human Rights a) January 1992

Commission

2) National Commission on
Scheduled Castes

b) February 2004

3) National Commission for
Women

¢) October 1993

4) National Commission for | d) March 2007

Protection of Child rights

Ted . 10 : IENT SN g I AT Iy e Siiedl

S I g s @,

31 (I 3T g (¥UTYAT a¥)
1) ERT AFE g ST a) STHaRT 1992
2) LA ST AW A—AT | b) HgaRt 2004
3) IR Hfgel AT c) 3R 1993
4) ST Srefger [AREU AN | d) 91F 2007
1)1-c, 2-b, 3—-a, 4-d
2)1-b, 2-c¢, 3-d, 4-a
3)1-a, 2-d, 3-b, 4-c
4)1-d, 2-a, 3-¢, 4-D

Question no. 11 : Human Poverty Index is replaced by ......
1) Human Development Index
2) Multidimensional Poverty Index
3) Global Poverty Index
4) Urban Poverty Index

A . 11 : A IR S ¢ ... 7 95ael 3R,
1) ot R fderis 2) sgSeei aiea Aderis
3) SImifae aRew Rderie 4) agd aiRew Rdera

Question no. 12 : The Shisunaga Dynasty was overthrown

1) Bimbisara
2) Ajatsatru
3) Mahapadma (Ugrasena)
4) Chandragupta Maurya

" . 12 : “FRIgAR &R0 ..., I yeTgd del.

1) SR 2) sriaery  3) HEURT (SURN) 4) IETH
Question no. 13 : Lunar eclipse does not occur on every
full moon day because ...........

A) The orbit of the moon makes an angle of 5°8" with that
of the earth’s orbit.

B) Size of the moon is too larger as compared to the
shadow of earth.

C) On every full moon day moon, earth and Sun do not
come in a straight line.

1)OnlyA 2)AandC 3)OnlyB 4)AandB

e P. 13 : IUEY YD Uit gl R Tt aror

A) Teret T gedte waeft 5° 8’ a1 B @R,
B) yediear wractieft qemT Ral I PR Y AIST 3772,
C) yda uiftmear fasht dg, gedt onfor g v ARe W™a
I ARK.
1) Baad A 2) A srfor C
3) wad B 4) A 3forB
Question no. 14 : Which of the following statements is
true?
1) Kolkata — Port Blair is long route than Chennai-
Port Blair.
2) Quebec — San fransisco sea route passes through
Suez Canal.
3) Delhi — London via Singapore is the most suitable
route.
4) The shortest route from Moscow to San fransisco
passes though the North pole.
e $. 14 : DIV fIU TR M2 ?
1) BIABAT - U1 3R & 7 A9 I IR AR
T 3T
2) TYIF - FABIDI AR A/ GO HIAATTLT
ST,
3) R - vz R 91 &1 Garg anf a1mg.
4) AP - FAHIpl 8 |aid Sigeedr "N 99X
{ATIH STIUIRT 37R.
Question no. 15 : Which one of the following is not
considered as four basic pillars of democracy?
1) Social Media 2) Press
3) Legislature 4) Judiciary
U9 3. 15 : WielleTdeh! DIV TP AP IR IR
FTHTUDT T FgUT HFET ST ATal ?
1) AR Are 2) YR HIEIq
3) fadfhiss 4) FIHE®
Question no. 16 : RBI gave in-principle approval to which
of the following organisation for the establishment of
commercial banks?
1) Infrastructure Development Finance Corporation.
2) ‘Bandhan’ — Micro Finance company
3) Tata Finance
4) Both 1 and 2
U . 16 : PIOIT FRSAT R, . T A
TR FopT FATI HRUITA cfeard; HFIT et ?
1) 9rme faer faa weEris®
2) du - g&u R Fut
3) arer fag
4) aer gt (1 3mfor 2)




Question no. 17 : The text of the document ‘Mazhar’, by
which Akbar assumed the role of supreme arbiter in the
matters of religion is found in the .........

1) Nizamuddin’s ‘Tabaqat-i-Akbari’

2) Arif Quandahari’s ‘Tarikh-1-Alfi’.

3) Abul Fazal’s ‘Akbarnama’

4) Badauni’s ‘Muntakahab-ul-Tawarikh’

e . 17 : Ui qraciciier water = srasRr <t
DT ... 7 el “HoTeR” AT SRANGSTT ATISa! 3Te.

1) FRoTedar ‘qarma-g-sraast’

2) IRY% HeERIET ‘TRIE-Y-3ehl’

3) gt Boel AT ‘HPERAMT

4) SIS “FrAThgd-SA-TaRE
Question no. 18 : At which of the following places, in the
given figure, the main satellite launching station of India is
located ?
"eT . 18 : fiolear anaclia, dorer fwmft wRa wg
IWE U&7 dhg T 3R ?

1)A

2)B

3)C

4D
Question no. 19 : Which of the following latitudes is half
of the equator in length?

D A
[ ]

1)45°N  2)35°S  3)55°N  4)60°S
UeT . 19 : Wlellelddh! Hivr sferqardt et g fagagaren
et e 2

1) 45°3. 2)35°%T 3)55°3. 4)60°%.

Question no. 20 : Which state in India was the first state to
have established Lokayukta Institution?

1) Odisa 2) Delhi

3) Maharashtra 4) Karnataka
UeT . 20 : WRAKIA DIORAT AN AlDrgad AT AL
T FATHT Pl ?

1) anfdem  2) Rgh 3) ERIE  4) FAleH

Question no. 21 : Arrange the following organisations by
their establishment year _

U . 21 : Wleflel AU / TR RICHEEIAR I
R RCICIH

1) OPEC, ADB, ASEAN, OECD

2) ADB, OPEC, ASEAN, OECD

3) ASEAN, ADB, OECD, OPEC

4) OPEC, OECD, ADB, ASEAN
Question no. 22 : The territory of Porus, who offered a
strong resistance to Alexander was situated between the
rivers of ........

1) Sutlej and Beas 2) Jhelum and Chenab

3) Ravi and Chenab 4) Ganga and Yamuna
UeT ®. 22 : ‘Ieigeie Al dig URIPR FRUTT gk

qIRT ... I7 QN T SII aelel gidl.
1) WAcrerst 3nfor feamd 2) S 3for e
3) Y& 3oy fREE 4) T ST AT
Question no. 23 : Which of the following Converts
mechanical energy into electrical energy ?
A) Motor B) Generator C) Dynamo D) Switch
1)A B 2)A, C 3)B,C 4)B,D

UeT . 23 : Wieliaded! PV JifAe Isid UiaR fIgld It
IRA?
A) AIcR  B)SMex  C)3EAAT D) &%

HAB 2)A,C 3)B,C 4)B,D
Question no. 24 : Read the following statements and
confirm the country.

A) ‘Selvas’ forest are found.
B) Hundreds of km fresh water lie on the coast.
C) Boro-Indian people live there.

1) Brazil 2) Indonesia 3) Keniya  4) Columbia
UL . 24 : Wiellet [IUTaT IRIRT S Qarrel) ffearet v,
31) dY Aot I JMMSBAT.

) W frTeR el fb. =t M uroft e
F) Y 9N ST Al .

1) gifsr 2) SR 3) dfRT 4) Sefer
Question no. 25 : The Supreme Court of India tenders
advice to the President on a matter of law or fact ........

1) onits initiative.

2) only if he seeks such advice.

3) only if the matter related to the Fundamental

Rights of citizens.
4) Only if the issue poses a threat to the unity and

integrity of the country.
Ued . 25 : IRAN FAE AR IRUHT drRier fhar

1) ¥d: IIHR S

2) Hae AP AgT R s’

3) va® ANIRGAT HAYd EHNEOT SO
L CEICIED]

4) % SR QAT Thdl d IGsad a1 fAmfor
FHROMT qEIgge

Question no. 26 : Match the following

A) NABARD |1) Financial assistance for warehousing

B) NCDC 2) Refinancing Agriculture credit

C) SCARDB |3) Inter state sale of agricultural products

D) NAFED |4) land development

T . 26 : AT SISl Jol.
A) e

B) . T 1. &%
C)w. ¥l T 3R, . .

1) MemHT fada 7ea

2) e JRfaH
3) ST T
IeqreAT fasht
D) AThs 4) YT
1)A-2,B-1,C-4,D-3
2)A-1,B-2,C-3,D-4
3)A-4,B-1,C-2,D-3
4)A-3,B-2,C-1,D-4
Question no. 27 The System of the competitive

examination for civil service was accepted in principle in
the year.

ueT . 27 : TGl AING WUl uda ugd! dwated
g wfteref Teft .......

1) 1833 2) 1858 3) 1853 4) 1882
Question no. 28 : Which of the following bulbs is most
light efficient ?

1) Filament 2) CFL

3)LCD  4)LED



UeT . 28 : Wielalud! HIURAT fagdear warer M
&I Hald SR 318 ?

1) farggadiarciier <, 2) ¥t T et

3) e ¥ € 4TS
Question no. 29 : Which of the following islands is odd in
the context of international date line?

1) Marshall islands 2) Gilbert islands

3) Samoan islands 4) Fiji islands
U . 29 : FRWE IR WHGUT Wleflerddh! T s

3ol

1) AR I

3) WA W 4) firsht e
Question no. 30 Which one of the following
constitutional office bearers has a fixed tenure of office?

1) Chief Minister 2) Cabinet Minister (Union)

3) Governor 4) President
"eT . 30 : Welledd! HIv Tt Faere JIeR ug g
UiRd PrRIGERITS 3RT ?

1) gegwsft 2) #feg Hfame w4t

3) AT 4) rgot
Question no. 31 : In which of the following state “Apna
Khet, Apna Kaam” (own field, own work), a new Scheme
under MNREGA has been initiated ?

1) Punjab 2) Gujarat

3) Rajasthan 4) Madhya Pradesh
T . 31 : “INUAT WA, AT FHH & AN IieHid A
AT Wretlertdhl DU IS G et 2

1) dorrg 2) ORI 3) IORAF  4) HEIWR
Question no. 32 : Vikramaditya, the king of Ujjain, started
the Vikram Samvat in 58 B.C. in commemoration of his
victory over ........

1) Indo-Greeks 2) Parthians

3) Kushanas 4) Sakas
e . 32 : 3. 4. @@ 58 Al ....... Fredreriel fasramaR
ST Ioiar o1 faspaTiced I faspm dad 9o

e,
1) Se-fe 2) iRir=w 3) pemr 4) 9

Question no. 33 : Propagation through sucker is found in

2) fieed 9

1) Pistia 2) Chrysanthemum

3) Mentha 4) Marsilea
U9 . 33 : HereAl AT YR FROTRT Tt ..., g,

1) Affear  2) d&<dh 3) gl 4) Arifera
Question no. 34 : Read the Map and Match the following.
Group A Group B
i) Washington
ii) California
iii) Indiana
iv) Florida

olO|w|>

U9 . 34 : I DI I B ARG ST Tl

Te 3T Teq

A i) grfere

B ii) Sl

C iii) sreamT

D iv) FenRer
1)A—ii, B—iii, C-iv, D-i
2) A—iii, B-ii, C-iv, D-i
3)A-ii, B-i, C-iv, D-iii
4) A-iv, B—iii, C—ii, D-i

Question no. 35 : The registration of Political parties is
done as per the provision of ........

1) Art. 324 of the Constitution.

2) The Representation of the Peoples Act, 1951.

3) The Election Commission.

4) The Election Commission in consultation with

Cabinet Committee on political affairs.

U9 . 35 : ASThIY GelE AUl ... TRISIIAR et ST,

1) WRy™Rie 324 a1 HeHTT

2) Arwufafedt e, 1951 =

3) fRasv smanm=n

4) Hseral Woh gagR Wi Ageed

(Rerfafg) oo Fasus smarmr

Question no. 36 : Decentralised Planning on the basis of
Panchayati Raj Institutions was recommended by .........

1) Balwantray Mehata Committee

2) Mahalanobis Committee

3) Ashok Mehta Committee

4) Gadgil Committee.
UeT . 36 : UG o AT MUR fAbfed it
e ioft deft ?

1) JegaN Agar |t 2) Agremfaw afdcd

3) 319Np Agar wfar 4) Trstie |fec)
Question no. 37 : Under the Mountbatten Plan of 1947, the
people of .............. were given the right to decide through a
plebiscite whether they wished to join Pakistan or India.

1) Assam

2) N.W.F.P. and the sylhet District of Assam

3) Punjab

4) Bengal
U9 . 37 : 1947 T ‘HTée scd’ Ao

o : [d > o h
YTl AT AdaargR YRara fhar arforeamrg i
FTOTIR A goaTET SRR e e,

1) m™
2) N.W.F.P. 3nfor smremmeiier Riege fregr
3) Yorg
4) e
Question no. 38 : Match the triad
| 11 11
a) Lactobiacillus | A) Protozoan | i) STD
b) Malaria B) Virus ii) Milk
c) AIDS C) Bacteria iii) Mosquito

Na—>C—oii,b>A-ii,c>B—i
2)a—>B-oii,b>A—>ic>C—iii
yJa>C—oi,b>B—ii,c>A—iii
4)a—>B-oiii,b>C—oi,co>A-Iii



U9 3. 38 : 3 Jaa.

I 1 i
a) dFAERie™ | A) 3 i) T & @l
b) Heifar B) fammoy i) gy

C) T C) Sitaro iii) SN

la>C—oii,bo>A—>ii,co>B—oi
2)a>B-oii,b>A—>ic—> C-iii
ya>Coi,bo>B-oi,cH>A-ii
4)a—>B-oiibb>CoHi,co> A
Question no. 39 : Walker Circulation is associated with
........ factor.
1) Communication and Transport
2) Atmosphere and Oceanic
3) Transport and Atmosphere
4) Communication and Atmosphere

U9 . 39 : AAR TD ....... geaiefl Frfea am.
1) Weragd M argqed  2) araTaRYr ST AR
3) aTES VT qraTaRvr  4) WL SAIfOr ATcATaRoT

Question no. 40 : The principle of equality before law
allows exception to which one of the following ?
1) Governor of the state. 2) The President of India
3) Foreign Diplomats 4) Civil servants
U . 40 : HIUTINIA T TART ETATeAdDhT PHIordT
T 3IATG o¥al ?
1) IS ST 2) YR IFTe
3) WH IoHR—B 4) [} ApReraT
Question no. 41 : Know Your Customer (KYC) regulations

have been introduced in financial transactions under the
regulations of ........

1) Banking Companies Act

2) Prevention of Money Laundering Act

3) Reserve Bank of India Act

4) Companies Act
UL . 41 : fOxig IAERIHIA “3MMYeAT UTgh S et
NG ... FRIFFTIGR aRUgTq 3fTel! 3TR.

1) T Hu=t BRIET

2) w11 44T ufaEfea srar

3) " Rerd d& Frer

4) HUHT BRI
Question no. 42 : To evolve a peaceful settlement of the
conflict between India and China, which of the following
Non-Aligned Afro-Asian nations participated in a
conference held in December 1962 ?

1) Burma, Cambodia, Indonesia and UAR

2) Burma, Sri Lanka, Cambodia, and Indonesia

3) Burma, Indonesia, Ghana and Sri Lanka

4) All of the above
UeT 3. 42 : 1962 T HWReledT IMMvhI-MRrf siforaamard:
QTIT PIUAT TeM YR ST 49 qefiedr HowiaR anddama

SIS CbIGULIH'II(‘;\I HEYUNT gdell ?
1) FEIRYT, HAAT, TSR 37fr . . IR
2) sy, sficier, daifear anfor semfimm
3) FgIRY, SSMIMT, T oy sficidr
4) Fad$r wd

Question no. 43 : Find the odd pair out.
1) Lysosomes — Suicidal bags.
2) Nucleus — Governs all cellular functions.
3) Cell wall — Selectively permeable.
4) Vacuole — Storage.

T . 43 : Wielledd! g S faer.

1) AR (FR—IBIRGT) - 3eqaTd! ferear

2) Fgp - Veft wrafaR Pz

3) uehiftrefier - Fasem URUea

4) Rfeaer - araau
Question no. 44 : River Ebola is a tributary of .........

1) Nigar 2) Zaire 3) Huambo 4) Joliba
UL . 44 1 AT T4 & ot U 31T,

1) TR 2) W 3) gt 4) Siiferar

Question no. 45 : Match the pairs regarding the country
and provisions borrowed from them :

A B
1) USA a) Concurrent list
2) Britain b) Judicial Review
3) Canada ¢) Rule of Law
4) Australia d) Strong Center
UeT . 45 : IR SiIedl @Al - Q¥ § FreAnhgd "
3TetedT TR,
< g
1) amRe a) Facl it
2) foe R IRISUICRECIERICE
3) Per ¢) PRI IS
4) Iftegferan d) USG5 HeHRBR
1)1-b, 2-c¢, 3-d, 4-a
2)1-c, 2-b, 3—-a, 4-d
3)1-b, 2-d, 3-¢c, 4-a

4)1-d, 2-a, 3-¢, 4-Db
Question no. 46 : Arrange the states by Increasing decadal
(2001-2011) growth rate of India’s population.

1) Meghalaya, Arunachal Pradesh, Bihar, Jammu-
Kashmir.

2) Bihar, Meghalaya, Jammu—Kashmir, Arunachal
Pradesh.

3) Bihar, Madhya Pradesh, Rajasthan, Meghalaya.

4) Jammu— Kashmir, Bihar, Arunachal Pradesh,
Meghalaya.

9T . 46 : HRARAT dlhedd (2001-2011) TIT AT
ST Ik AT AW Tl S DIV ?

1) JETeE, IrevUTEd e, fIgR, S FediR.

2) fIER, JETe™, SR-HTeHR, IrUTEd HeT

3) AR, geawer, ISRAN, N°Te T

4) S-H1HR, fAER, e uger, JaTe™
Question no. 47 : When was Burma separated from India ?
T . 47 : ARATURT Feee Pegl [Avad sran?

1) 1936 2) 1937 3) 1938 4) 1939
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Question no. 48 : Though 70% of earth surface is water,
Philosophers think third world war will be due to “Water”,
because ..............

1) it is necessary for all plants and animals.

2) itis Universal solvent.

3) Only 3% is fresh water out of which only 1% is

accessible for use.

4) it may be polluted by bioweapons.
UeT . 48 : YT A% S/ 70% SR g1 UIudT STl
RIS TRIE deastieal 74 R A8gs 2iva aiofl BRufd
3R] ABA. PRI ...

1) I 99 gUC! g WU TR IATR.
2) @ gdwEash grae ang.
3) wad 3% S Ut 3R ITRTAIST 1% IUAY 3R,
4) @ Sifde st ugRT g Sitaar giveRS
ECH
Question no. 49 : Read the following sentences and select

the correct alternative.

A) The length of terrestrial mile is lesser than a Nautical
mile.
B) Harmatton is dusty sandy winds of East African coast.
C) Spain and portugal are parts of Balkan peninsula.
1) Ais correct B and C is wrong.
2) B and C is correct A is wrong.
3) A and C is correct B is wrong.
4) all are correct.
"¢ . 49 : Wiefler e arar iy arg yafy faer.
A) SR det & AR HeAmem Bt e 3T,
B) afthehedl g fepIRuUgIer RIS el o5 30T aresat
IS JSHAT.
C) ¥ T UIge ¢ Jieieh fguepedra TRT 37Ted.
1) A g RIeR 3R BT C & 3T8.
2) B3 C SRR 31gd 9 A & 3MTe.
3) A9 C SRIsR A 9 B I& IR.
4) |9 SRR IR,
Question no. 50 : Read the following pairs and choose the
correctly matched pairs.
1) Gyandoot — Online government to citizens service
delivery initiative.
2) Lokvani — Single window system for provisioning
essential services.
3) Friends — Online provision of non—financial services of
the citizen.

4) e Seva — Provide Government to citizen and e-Business
to citizen services.

1)1,2and 3 2)2,3and 4
3)1,3and 4 4)1,2and 4
UeT %. 50 : Wieliel Siled argd A Rl Jesosedn Streardt
SESERY
1) G — AR A ANRED T Gelard ATTelIs SuzhH
2) FIpATOft — STITALTD W1 JRAVANAG! U Raseh! egawan
3) %hed — AMREGMT SAfRIT FaT e GRIJuaTe avqg
4) -1 - AR A ARG MO - femg o THRS A1 Fa
NG
1)1, 2 3nfor 3
3) 1, 3 anfor 4

2) 2, 3 amfor 4
4) 1, 2 anfor 4

PART — Il / 471 - 2

Question nos. 51 to 53 : Read the following passage
carefully and answer the question given below.

Several years ago my parents, my wife, my son and | ate
at a restaurant. After a wonderful dinner, the waiter set the
bill in the middle of the table. That is when it happened :
my father did not reach for the bill. Conversation continued.
Finally it dawned on me. | was supposed to pay the bill.
After hundreds of restaurant meals with my parents, after
life-time of thinking of my father as the one with the
money, it had all changed. | reached for the bill, and my
view of myself suddenly altered. | was an adult.

Some people mark off their lives in years; | measure
mine in small evernts in rites of passage. | did not become a
young man at a particular age, like 13, but rather when a
boy strolled into the shop where | worked and called me
“mister”. The realisation hit me like a punch : I was
suddenly a mister.

I never thought | would prefer to stay at home, but now
I find myself forgoing parties. | used to think that people
who watched birds were weird, but this summer | found
myself watching them, and maybe I’ll get a book on the
subject. 1 yearn for a religious conviction that | never
thought I’d want, feel close to my ancestors long gone, and
echo my father in argument with my son. I still lose.

One day | became a father, and too long after that I
picked up the bill for my own son. | thought then it was a
rite of passage for me. But one day when | was a little
older, | realised it was one for him too.

51 : The passage tells about the author that he is becoming
1) learned. 2)anadult. 3)rich. 4) an artist.
52 : The author had begun to forgo parties because he had

1) become a party-hater.

2) become somewhat abnormal.

3) begun to take interests in watching birds.

4) become self-centred.

53 : ‘I was suddenly a mister’ here means ......

1) author felt that he had become an adult.

2) the author was highly respected.

3) the author was addressed as the owner of the

shop.

4) the author was now a responsible person.

99 . 51 T 53 : Wellel URTBT PIosiIgdd AT T Eleil

feerea meadt I .

gy aufgdl # AT ueh, g 9 Uleidiag Ul JUER
TR SIaul dhel, IPE HISHFR CIerred] TeaHnlt dex et
3aet. & M degidl. ATSAT i it gUAN g e bl
TEY. FHINU] TG 1], el At AT T4 Al Dbl e
QO IMaTd B, UTADERISR Adbel dBT gcameiad Staur
PIFR, afseliped AgHt U SN o3& Y faaR
PR, 3T g AJ dgerel g, =t fe uder smfor wvganm
A FE SR G TheH aqarell. H Ml Wi sl
g,

HIE D AT AT I aRard, o J7st mgs
g TR worar. fF 13 A 14 < vt fifiw quma die
Sl A8l fehegl @ gl el Siegl Hl P @Rd SRfeted




P Tl HeT A Hell ‘Mg’ =Ud &b ARel.
ST AT Fel A7 il Hell UeT ST,

o R} 1E0 AfAp AT A AT BelEl AR el g
oRg 37T H ureien S ArgH et oR. et FRtamr ok
Al g fafed sard o #er geff arer W a1 S
ve FRieror T Ra gl T dera H A fwamar
U qRdahel U, Wi, SAEd Aol BetE JMYerh! areet! Aegd
37e T Tfifes ARt SR gset, fohar @y aufadf fretean
ST QSIS HeTl ST arcet, ATean Genelt =i Sl Argan
IFRTAARET aTE =Tef= 37T TRRgET &9 3R 7el Heht areel
g,

vhfeasft #f fiar sl onfdr @GR s=ra auiH =@t A
el fid TRk faaR Far & g1 T Sfied Harerdier
THT 3ATE. URY FIFPR SRR U fegeft 7ar Sivet & g |4
HIE AT Gl 3Te.

51 : T IART RIPIANAT WTefieTdeh! HIOTH T AT ?

1) fgi®s areTm.
2) viacarps SIuATE! areTTe.
3) sfiva e g vaTRS areaTe
4) A BABR AUATHS aTeaTd
52 : oRGH™ ASaIe STor Arg el dRoT ar ...
1) ASaET AR R &6 R,

2) Frgr faga e
3) gt fAfieror FHRUTTT T A ARTET B,
4) BT HTeT.
53 : =t wepeH iy et arer 37 ...,
1) IGHTT el &l dl I Hie ST,
2) DT GbITET HIcTeh FgULT gleb HIRedt et
3) @S gy A e e
4) JGH AT SIS Faa] SATell.

Question nos. 54 to 56 : Read the following passage and
answer the questions given below.

The villager has customarily been very conservative in
his attitude and approach. He is reluctant to change his
traditional way of thinking and doing things. His attitude, in
many respects, is : “home—made is best”. For instance, most
cattle-farmers in the villages, prefer to feed their cows and
buffaloes with a home—mix comprising local oil-cakes like
mustard or cottonseed, pulses, jaggery, salt, etc. It takes
numerous visits, hard-convincing, daily trials and
experiments to convince the rural cattle—farmer that
compound feeds, scientifically formulated, improve the
yields of milk, without any incremental costs.

The age-old values and attitudes towards caste, creed,
women, time and money take time to change. The villager
has traditionally been a believer in the philosophy of karma
or fate. He has found it more convenient to blame his
economic  destitution, poor living conditions, and
straightened social status on ‘bhagya’, ‘karma’ or ‘fate.’
The security that the villagers find in the ‘status quo’, acts
as a disincentive to change and experiment, in the short-run.
Many of these antiquated attitude, value-system and
outlooks are changing, due to improved levels of awareness
and education. However, the rate of change is sluggish.
Attitudes that have fossilised over the centuries, do take the
time to change.

54 : Which one of the following is not the usual reason
offered by an average Indian villager for his poverty ?

1) It is God’s will

2) It is a result of some of his bad deeds committed in
this previous birth.

3) It is because of his resistance to new ideas.

4) It is his destiny
55 : When will you call a person conservative in his attitude
and approach ?

1) When he imputes motive to change agents.

2) When he would like to try out every new idea
before accepting it.

3) When he sticks to old ways of thinking and doing.

4) When he solves his problems through tried out
methods.

56 : Why does a villager feel secure in maintaining ‘status
quo’ ?

1) Because whatever is known should be the best.

2) Because change is seldom for the better.

3) Because too many people go about advising him.

4) Because of the imagined risk involved in trying a
new approach.

UeT %. 54 O 56 : IMHIT FIITET GEIPN I ATl gt
WO RS 3fed. R AR nftT et axvarEt
IRUIRG Tgd a v TR AE. S Sedld SRS
R IPE AT AT R 3], Il S Sqes 4
yeflor wreld R e mE g el eRidie A,
Furefia T, ST, e, 1o e IR SHfdela darar U
0 e UK e, T Y AahaT Qe
g R Pelel SRR IRT @i a6 7 PR U
I defal g Ueqy AN ST gedE SS9,
TR IrIUT g YN IR ANald. o Id agg B
3TTe.

STt STl wifge, 49, 9% a1 vl srielelt ordd e
I G GEIPM IS0 I% AN, WO JFIUT el
fhar @ a1 doaaR I JauRr omg. omffe TR,
gRarerft sawen onfor sreaviidia wmfie ufsT arndt
U, $H fhal e S QW0 AT SR AT dred. Sf
WiEmar @ SN & IR a1 Al smewd o
IRITA POATE! e TSI AVTIRAS! q TR arerep
3R, T g GURIIU Peied] STARIHe 3™ 3P JAIC
SElM T e 95aid 3Ted. U 9ea1 @ 3fdd Hg e g
3. IAPHAAD JAIC Felel GEIDH ISATIN 5 Siral
AT,

54 : |EAMFI R JEUT AT SIRGATE @refierih!
PV PHRUT AgH AT ?

1) & it 3TBT AR,

2) a1 fhar anTea SR $HATD BS TR,

3) A FeaTET UfHR HRUAT e geit

4) g @™ 39 IR,




55 : 379U WTElTell ATl YHeT g GRepIaR RIS
gl TEI2
1) Sicgi a1 ARMETER /EegT gl
2) Sicgl T TS A Hod RasRvagd @meR
RN PRI TGS
3) Sicgl @ AT AT faOR 9 & wRvaTedT ggciten
e wrEa.
4) Siegi A1 SRINTI Rig Sl gged @t R
wrsfaar.
56 : IO AT S & R Hrm Saur R ared

1) ST SFNERURIAT S 3MTg 7 WA 3Tl fRot.
2) 91 8 Piaag AP AT IRIal.

3) T Al TelT IUSY T &<,

4) T ggd! ITIRUATd PHreufe S 3R,

Question nos. 57 to 59 : Persuasion is the art of convincing
someone to agree with your point of view. According to the
ancient Greek philosopher Aristotle, there are three basic
tools of persuasion : ethos, pathos, and logos. Ethos is a
speaker’s way of convincing the audience that she is a
credible source. An audience will consider a speaker
credible if she seems trustworthy, reliable, and sincere. This
can be done in many ways. For example, a speaker can
develop ethos by explaining how much experience or
education she has in the field. After all, you would be more
likely to listen to advice about how to take care of your
teeth from a dentist than a firefighter. A speaker can also
create ethos by convincing the audience that she is good
person who has their best interests at heart. If an audience
cannot trust you, you will not be able to persuade them.
Pathos is a speaker’s way of connecting with an audience’s
emotions. For example, a speaker who is trying to convince
an audience to vote for him might say that he alone can
save the country from a terrible war. These words are
intended to fill the audience with fear, thus making them
want to vote for him. Similarly, a charity organization that
helps animals might show an audience pirctures of injured
dogs and cats. These images are intended to fill the viewers
with pity. If the audience feels bad for the animals, they
will be more likely to donate money. Logos is the use of
facts, information, statistics, or other evidence to make your
argument more convincing. An audience will be more
likely to belive you if have data to back up your claims. For
example, a commercial for soap might tell you that
laboratory tests have shown that their soap Kills all
7,000,000 of the bacteria living on your hands right now.
This piece of information might make you more likely to
buy their brand of soap. Presenting this evidence is much
more convincing than simply saying “Our soap is the best!”
Use of logos can also increase a speaker’s ethos; the more
facts a speaker includes in his argument, the more likely
you are to think that he is educated and trustworthy.
Although ethos, pathos, and logos all have their strengths,
they are often most effective when they are used together.
Indeed, most speakers use a comination of ethos, pathos,
and logos to persuade their audiences. The next time you
listen to a speech, watch a commercial, or listen to a friend
try to convince you to lend him some money, be on the
lookout for these ancient Greek tools of persuasion.

57 : Amy is trying to convince her mother to buy her a pair
of shoes worth Rs. 200. She says: “Mom, the shoes | have
are really old and ugly. If I don’t get these new shoes,
everyone at school is going to laugh at me. I will be so
embarrassed that I will want to die.” What form of
persuasion is Amy using here?

1) Pathos

2) Ethos

3) Logos

4) A combination of ethos, pathos, and logos

58 : According to the passage, the most effetive tool of
persuasion is ......

1) ethos, because you cannot persuade an audience
that does not trust you.

2) logos, because it can also be used to build ethos.

3) acombination of ethos, pathos, and logos.

4) pathos, because human beings are most easily
persuaded by emotion.

59 : According to the passage, logos can build ethos
because ......

1) an audience is more easily conivenced by facts
and information than simply appeals to emotions
like pity or fear.

2) an audience is more likely to trust a speaker who
uses evidence to support his argument.

3) a speaker who overuses pathos might make an
audience too emotional; audiences who are too
frightened or too sad are unlikely to be
persuaded.

4) a speaker can use misleading or false information
to make his argument seem more convincing.

UeT . 57 O 59 : 7 Jqul & TR el gEiameft
HgId Fo Ol U Ferl . UH fie awe tRveied
D WA, W Jeuared] dord! dF Jord |IeM efed
ALY (SUNT), HOURH (YIRT) SN0 AN, ATIvT fIearaTe
I & UCgT QUATE Ueb UGl FgUrSl SUINT 8. GaTT it
I JEN degld  fAeqNAE WHeldl oiegi dl gl
G, Ry TRUATSIRT ST FET SRl § 3 Ugd
Pel T ADd. IG1. U gadT T ST ATedT &l
3Rl 3gHa g e fJare oo el sU fFmir &%
gardl. Aact Jrel Sl dreett Beft B ATETEcET Agl

TR SR Teilhgd HOT STRGT URi p=al, STfiemes defgd
Teg. IIAURT T IATAT ST Mg T AT Fied1 fgdraa AR
3 M U TSel @G Jadl Iredl A UM
i &% erepdl. SR A fAearrd TR el R el
I A PUllE awg APUR AR Scdrean dadielt Jeag
U geRATe Ugd fhdT e TgUST YR, I ST AT
ST VU= g Ucqg, UTed Mg Dl T [aiHl e AdGH
TR, 3R TUL AT DI, P qrd Q@A FID JGIRT
qEg, qadl. AR g g A g o awuarEr
JeQE qielel elel AR, A HHR Al AT A QAT
U Heall. ITAYHTO YTOITRATST BT SROMRT U I vl
Vel SREH!  pRT-AeREl o grafad. et R
SRIFUIHTET Ie2T VerpHed S WieHT FMior aRor &1 3Ry,
PN, SR AT SHERRIST HefpHT ST 3feft TR it 37fefe
qed FRUITE AT SIS SR, AU FEOUITe] AT
BT PRUIRAIC! A, HIfE, STbSaRT AT SR GRIG dTIROy

RO AN BRI, AT FEUIOATE SR T SThsdRId! ATl
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A TR TR 31T [IeaRT vt aagdT TR /A, S,
FEUTE SRR SR AR A Bl YA el etedT
rEAUATAR el A0 JHET IR 3Rfeied] 70 R g&d
i e PR Aqedt. el AfEd fwedrar grel ar Ao
e SvaTe aTdT SR dTed. 31el TR 3R gRIET ATeY
PR g IMTAT AEU AT IR g FeuvaeT e fearg
B, FANRFST IR qacdrdl SU alg o], Jadl Siaet
AR T IMUST ThAGHEN FHIIE PHeall, fada S ar
e fafdd enfor feamag arear. SN 3N, AN g
AT Tl ST T a19] 3RAel! a9) T Tyl Stegl
AR Pl S el d AU THT SRAT. WG FgKieh
o AN, UANT I ANNT ITAT THHaUUl JqiuR ol I
ST 79 IRAuITT T S, JeedT Jo< Siegl 37Iul
TTC WIS Ve 3R, fohar T} SfeRTa sEa oRy, fhar warar
3 eUea el U SYR CUIN Ued UTed SRiA 31l
T 99 qosfquaredr a¥idl U9 i ARt snaau
31997 3.
57 : ¢l frean amgen foreamaret 200 %, @1 A gerEr b
BRI SO gy 3iTel MTed. Hell SR e e feeret A
T BT TIAHT Tl g0, W T @olld gl Hl HJelr
W T8 gRd.” T IY 79 I@fAvard Pl AT
IR ?

1) 9 2) s

3) @ 4) 3T, AT ATFOT AT |AT
58 : URTBSAR 79 Jovard wafd yaret dred Siord
3R ?

1) 3UN, HRU Frel TERN SJETS 79 989 add
ATE Sf TR faear Jad ATE.

2) RN, RO o W 3N TIR PHRUITATS qToRe
TS T,

3) 3N, g IO SAIRATT HANT

4) 9, HRU YEFIT WERAN 8T A9 Jefaor
Afer WY S,

59 : TRTSSIAR AN g $UN TIR &R BRI ........

1) Ypum=giT deun fhar it dem am anfor Arfgeh
ged.

2) VHUIR 39N JacareRk fdegi daard S <Al
aiaTeT W9 HRUATH YRTET qroRa.

3) S FEaT UET SAfETaR FRaAT A YU gqu
yafe T9g ear. wfia fFar gt e
ST T qSIATATT FHTIAT At 3T,

4) UG TEd WA FEUN Ueqd  Quaet fad,
fRemye anfor @ wifEeht amuws eraa.

Question nos. 60 to 62 : Nationalism, of course, is a
curious phenomenon which at a certain stage in a country’s
history gives life, growth and unity, but, at the same time, it
has a tendency to limit one, because one thinks of one’s
country as something different from the rest of the world.
One’s perspective changes and one is continuously thinking
of one’s own struggles and virtues and failing to the
exclusion of other thoughts. The result is that the same
nationalism which is the symbol of growth for a people
becomes a symbol of the cessation of that growth in the
mind. Nationalism, when it becomes successful sometimes

goes on spreading in an aggressive way and becomes a
danger internationally. Whatever line of thought you
follow, you arrive at the conclusion that some kind of
balance must be found. Otherwise something that was good
can turn into evil. Culture, which is essentially good
becomes not only static but aggressive and something that
breeds conflict and hatred when looked at from a wrong
point of view. How are you to find a balance, I don’t know.
Apart from the political and economic problems of the age,
perhaps this is the greatest problem today because behind it
there is a tremendous search for something which it cannot
find. We turn to economic theories because they have an
undoubted importance. It is folly to talk of culture or even
of God when human being starve and die. Before one can
talk about anything else one must provide the normal
essentials of life to human beings. That is where economics
comes in. Human beings today are not in the mood to
tolerate this suffering and starvation and inequality when
they see that the burden is not equally shared. Others profit
while they only bear the burden.

60 : Aggressive nationlism ......

1) breeds threat to international relations.

2) leads to stunted growth.

3) endangers national unity.

4) isolates a country.

61 : Negative natinonal feeling can make a Nation .....

1) selfish 2) indifferent

3) self- centered 4) dangerous
62 : The greatest problem in the middle of the passage
refers to the question how to .......

1) mitigate hardship to human beings?

2) face the dangers of aggressive nationalism?

3) share the economic burden equally?

4) curb international hatred?

HeT . 60 T 62 : WA @ MITd W Pogarrdl [T 31e
S Serrea SiERIer Tt fafde comed qanelr <IaT, et
MM Thudl <l U AT dod IFAle JMMYedT e
Taffeq dadl PRUT A UV YT <A FAX <TUET HT
NTGBT 31 3T R e,

T G geerdl it Al gAR diukdel R |
R T FENrET AT Ui R dRdl. gRumHERay
S AT YT AFTAT AT WIchiar el 3iTe a9 AAmed
T WATCHelT §Tees oRal.

Sigt AIyarg Al A degl pefied) emHe ugd™

Te DU o AR bell R grel Tl e
OIRrEdr 6 MU fIaRmE) AU RATTAT gal. ATaaR
S P Tl SR o asered uRafid gge. S1e He:
Gy I IRclell TPl ARG d 3MhAd g d g
DT UG dTfgel Tedrd Fay 37T foREpRIeT S+ <.

I1a AN BT AT 89 HeAT ol ATal.

3ITST ITh g 31 wesiea afiRed werfyd ga A
TR FT Mgell M. HROT IR 372 MEFRT QU AlGAT
YU oMY TIe] 3 Sit WUg hd ATl 3muur anmfie
Rygidihs goocl DRUT AT AEalIsil 9 A9d, HIUy
SURHRN R 31 gRRRreha gt fhar Sarfaszht areror

ECICECIS

SR PocUTe! MEIR IIATATIHINGY VT HIURIAT SAIa1eT
RO fhAE TRered M qRideara uifeeid. 39 arefeRe
A, e AN W, SURKHR 9 fIwEar A aReared




Rl I PRO T ST A 3R P SRR 3N
THIR dTeet Tetel A8l O Had 3iTst dTgd 3Ted. Bl 71
AT 2.

1) AR AUt DbeS I
2) faer aiefaar.
3) e Yo GieT drgataa
4) ITETEAT HThT grSa
61 : THRIHED TFT HEHT AT ... ST
1) @wreff 2) SRl 3) aTHPS! 4) deRRD

62 : Iamgrer ger fCelelt e WSt wERT L
geieft frrdla e,

1) HIUTATEAT HETCT § AHIGT BH! Y DRl Agel ?

2) 3AMHHS IFFISTT DFATAT B ATS T ASA ?

3) nffes YR WM WU ST aIgH TR ?

4) JTARTE AT FHT HYETT STOTTIAT ?
Question no. 63 : Anita, Kavita, Babita and Sunita were
playing cards. Anita said to Sunita, “If I give you 8 cards,
you will have as many cards as Kavita has and | shall have
3 card less then what Kavita has. However if | take 6 cards
from Kavita, | shall have twice as many cards as Babita

has.” If Sunita and Babita together had 50 cards, how many
cards did Anita have?

ueT . 63 : AT, Pfaar, Sfear fdr T o Wed g
arfraT gfraren reumeft, “Ht SR el 8 T el TR JeA™IaD
HAANES T gl 3T ASASIa® Biqaien 3 Ul HH!
SR, U SRl Bfdibgd 6 UW Hdel IR HISANIAD
IRdTSIge SRieledl Uedl T Ox gitel.” ST g S7Ifor
e are SE9w fied 50 oW g, @) Sffae fdl o
B ?

1) 42 2) 37 3) 58 4) 40
Question nos. 64 to 67 : Find the odd man out.
U . 64 T 67 : fIRTT T .

64:1)4 2) 341 3) 60 4)121
65:1) | A\ 2) W
v AN
RAY
3 R 8 H—F

66 : 1) Mumbai 2) Gondia
66 :1) qag 2) Mifgar  3) aftm  4) Aids
67:1)ZBEI  2) IKNR 3) MORU 4) ACFJ
Question no. 68 : In an examination 75% the total
candidates appeared, passed in science and 65% passed in
mathematics while 15% failed in both these subjects. If 495
candidates passed in both science and maths, then how
many candidates appeared for examination?

U %. 68 : THI RIEemed IJuRRAMDT 75% wtemeff emerd
amfor 65% ToraTa Sfivf simel R 15% Qer fawara srgwiol
et SR 495 wteneff g v Sl st errcfler @
forch oteeff wter SufRua da ?

1) 800 2) 900 3) 600

3) Washim 4) Nanded

4) 1200

Question no. 69 : O%7 and A® 6 are two different three
digit number. Which amongst the following can be the
product of these two?

UeT . 69 : Ok 7 3T A® 6 & a9 FRERIeT oS o
HRET 3R, Wlefierdeh! HIVIAT T qrardT OTBR 3R, DB ?
1) 5372 2) 75438  3)55372  4) 8764732
Question nos. 70 to 73 : Five friends Francis, Jagdish,
Rahim, Lata and Malati are climbing a staircase of six
ladders. Two persons are not standing on any ladder. Lata is
standing one ladder below Malati, Rahim is standing two
ladders below Jagdish. Francis is one ladder above Rahim.
Jagdish is as much above Rahim as Lata is below Rahim.
Then,
e 3. 70 T 73 : WIFAA, SHICHT, I3, T 3T Aretdt €
urg i g1 U R aad 31, PIvTE! UrRieR
SISO IW TG, AT AleAdueT Th Ut @left M. IfEH
STISIOTET SN UTIRT Wief! 3R, WhIfRT fRH el Ue Ut R
AR, SISty Xfgmden Rider R eme faada wrar Ifgmdar

70 : Who is on the second ladder from bottom?

1) Malati  2) Lata 3) Jagdish  4) Francis
70 : QeI AT URRIER P10 3718 ?
1) grerlt  2) & 3) SRIEtYT  4) I

71: What is the sequence of persons from bottom to top?
1) Jagdish — Francis — Rahim — Malati — Lata
2) Malati — Lata — Francis — Rahim — Jagdish
3) Lata — Francis — Rahim — Malati — Jagdish
4) Lata — Malati — Rahim — Francis — Jagdish
71 : We[d TR PIURAT M b IH IATEd ?

1) SITeT - B - MR - ATewrdt - aar
2) "rerel - oaT - WIfFad - X@H - SHIdHT
3) oaT - WIfa - IfH - drefelt — SRt
4) o - ¥Terd! - I@H - B~ - ST

72 : Who is standing on the central ladder?

1) Rahim  2) Malati 3) Francis 4) Lata
72 : qYSIT GRRIGR HIoT 39T / o 3 ?
1) <few 2) Aterit  3) Wi 4) o

73 : Which ladder is vacant ?
1) Any ladder
2) Topmost ladder
3) Lowermost
4) Topmost or Lowermost ladder
73 : ot IRy Rt g ?
1) SRS IR
2) watd aedt grRRt
3) Wafa wrerdt arRt
4) |atq it fhar wafa @rere g
Question nos. 74 to 77 : There is some relation between
the first two terms on the left hand side of : : The same

relationship exist between the third term and one of the
alternatives. Find that alternative.

YT h. 74 q 77 : : : T SMIBS 3RTAT UfgedT S Uerd
PR ey . T Hey R ue g qgigiddh whra omg. o
g 9.



74:8:72::12:7

1) 120 2) 144 3) 156 4) 165
75:DF:X::CE:?
10O 2)P 3)N 4L
76 : Fire : Ash : : Explosion : ?
1) Death 2) Flame 3) Sound  4) Debris
76 : fovda g WRIE ;7
1) 99 2) Saa 3) MBI 4) ISRIST
. [ ] [ BN ] [ )
77 ’ A [ ] [ BN ] @ [ ] ?

1) 2) 3) 4)
Question no. 78 : Sachin cycled 10 km towards north.
Then he turned to his right and cycled further 3 km. Again
turning to his right he cycled 6 km. Minimum how much
distance and in which direction he should cycle to reach his
starting point?

1) 5 km towards south west

2) 4 km towards south east

3) 7 km. towards north west

4) 5 km towards south east
U . 78 : ARH A”Ge 10 . H. IRPbe Tl TFR
T Iodips aod 3 b, Hl. AP Tl WA IoEipS
g @M 6 . . A e, @M FHia o
MR T DU I TP TAArd! TEUST Al T
SR dgrde ?

1) 5 f&. #. F=Baw 2) 4 f&. . iR

3) 7 f&. . T 4) 5 f&5. . sERw

Question no. 79 : The perimeter of a rectangle and a square
is numerically same. If the area of the square is 400 cm?
and length of the rectangle is more than its width by 10 cm.
then which of the following is the area of rectangle?

1) 400 cm? 2)425cm?®  3) 350 cm®  4) 375 cm?
U . 79 : TS INIAT onmfdr et R uRfiedt
AT gl AR 3R, SR ARAR dFwe 400 JHT
I ST STt et e wanaT 10 JH SR 3R
T WTeAleTidhl TR &5hes DIV 3R ?

1) 400 AH 2) 425 IR’ 3) 350° W’ 4) 375” AR’
Question no. 80 : A wire in the form of a circle with
diameter 84 cm is bent to form a square. What will be the
length of a square?

1)132cm  2) 66 cm 3) 70 cm 4)33cm
U 8. 80 : 84 I, N SRAIedT aqwIPd! IR AP Uh
IR TIR dhell, T TR o77el) fobel) 3rdeT ?

1) 132 9t 2) 66 wdr  3) 70 Wt 4) 33 wHt

Question no. 81 : A certain sum lent out at a simple
interest amounts ¥ 575/ in three years and for the same
sum ¥ 625/— in 5 years. Then the rate of interest p.a.p.c. is

U9 . 81 : PRl W W FNTH holls feed™ - aufd
T 575/- 9 B M1 I WU 9 auid I T 625/ -
B, N S NI X ... 3Me.

)5~ 2)T6/- 3)T8~ 4T 10~

Question no. 82 : 400 ml of 16% alcohol is diluted to 10%.
How many ml. of water should be added to the original

solution?
"eq . 82 : 400 et 16% rcdigiered grEum digdn
10% gRudd @ uft fiRieel. @ g gravna fadt fireft,
qToft ETeTd ATe ?

1) 300 2) 304

Question no. 83 : U . 83 :

3) 310 4) 404

\/(15.6+6.6)2 —4x15.6x6.6 =?

1)3 2)6 3) 22 4)9
Question no. 84 : In a class, there are 60 students having
blood groups A, B, AB and O. The number of students
having blood groups A and O are 8 and 18 respectively and
that of blood group B is represented by 120° as shown in
pie diagram. Thus the number of students having blood
group AB is ........

UeT . 84 : T id A, B, AB 31fdT O e aRfelel 60

faemeff amga. A snfor O Yodwe s foemealh)
3FH 8 M7 18 3 MMy I B a/felel faemedf umy

3t SRAfITTMI 120° 7 oifdal S, aR AB JFe
v et wwe 3.

1) 20
2) 18 10
3) 12

4) 14

Directions for following 6 questions : Given below are six
questions describing a situation and is followed by four
possible responses. Indicate the response you find the most
appropriate. Choose only one response for each question.
The responses will be evaluated based on the level of
appropriateness for the given situation.

Please attempt all the questions. There is no penalty
for wrong answers for these six quetions.

gdicT WET WIS {AAT : @iell Jgl ¥eT fel amed s
YN T gl feeft amg onfor MR IR ufdfsrar feean
TATRRIAT Tehd Jai faet. SR Jeied, feiean ge-ten
Feyid ITNM=AT TREN el S8,

FUAT A LA IR AT, IT AWGT WRATAT Jehrear ISt
PIVCTE! S8 Pl SITUMR ATEL.

Question no. 85 : You are competing with your batch-mate
for a prestigious award to be decided based on an oral
presentation. Ten minutes are allowed for each
presentation. You have been asked by the committee to
finish on time. Your friend however is allowed more than
the stipulated time period. Under this circumstances what
will be your reaction ?

1) Lodge a complaint to the chairperson against the

discrimination.

2) Not to listen any justification from the commitee.

3) Ask for withdrawal of your name.

4) Protest and leave the place.



U . 85 : HIRGD AIHRUTEAT MMURER, HAMR F&RT
fresauarad! gret e et fanelt Tt o, ude
AT 10 . I 3R, I A dooa AT
Hufquar Fiffider gur grear foedeaiar 10 H. dar SRa 9%
Aftfiergd e e, srem ufvfRudia gt R wfifean
3R ?

1) Yguraren fieg W= yHEds TR Figard.
2) Affia PIoKE TSRO A HRUR g

3) T A1a T BTG THUATS FIAUIR.
4) Y FH TS AR,

Question no. 86 : You are handling a priority project and
have been meeting all the deadlines and are therefore
planning your leave during the project. Your immediate
boss does not grant your leave citing— The urgency of the
project you would .......

1) proceed on leave without waiting for the sanction.

2) pretend to be sick and take leave.

3) approach higher authority to reconsider the leave
application.

4) tell the boss that it is not justified.

U . 86 : Jral Ul WY IUHHAIR HM PRI IMEC. T
B Ul FRugTeT TSI TRET UTesd 3TTETd. T SUshe
e, SRAMT Tl R Sgiaelt R e smerd aor
T IS ATed ITHARAT YOiar! e TET Jreren ot
R QT AR, R T el el e T o/ ie ?

1) Yo HoRIE Ui 7 HRaT IoER ST,

2) JATSTRT AT ST PRIT G IR ST,

3) o seifen gAffaRt 9w sifdermneft Wud
ATYT.

4) g IIGRP IR aiRE AFfB=ITer HiTe.
Question no. 87 There is a corruption in the
administration due to the inter relation among the seniors.
How will you control it as an administrative officer?

1) Take a strict action against the employees found

guilty in the corruption.

2) Aware the workers that our system is going to
become weak due to the corruption. In this system
higher authorities gets benefits and it brings
disgrace to an employee.

3) Convince them that the corruption is a bad deed.

4) Tell the consequences of the corruption to the
employees.

Question no. 88 : You are under enormous pressure to
complete your task in time. Yesterday new trainees were
appointed in your department. They are unfamiliar with the
work flow in your department. You have to interrupt your
work to answer ‘trainees’ questions. You are expected to do
both to finish your work in time and to take care of the
trainees. What would you do ?

1) 1 will tell the trainees that 1 am available after
work to answer their questions.

2) 1 will openly say that | cannot take care of the
trainees and work for better initial training of the
trainees.

3) I will send the trainees to my colleagues when they
have questions.

4) 1 will try to get by without becoming stressed and
worn out.

U %. 88 : TR AT HM dobd Ul HRUITT TEe qa1d
31R. Plerd I HFFRTE T fI9mmd w_eft sieft ame. o
a7 et suRfyd smRd. S JrEen gAY Tl B
YT @ faReiean Heret IR AT Anan. g
I FHE TEUS gl B g RIdeTe SR dressit
U7 SR 3. PRI BRI ?

1) <1 AP FHIRET ARF H 9 $H AaTER
TATT VAT IR <E.

2) #ft wugn @ie Y, # e FERER Hreoi
U IFd  ATE U0 Wied]  goaniedr  Sad
yfreomardt agaa 9.

3) SiegT f3rhTas BTHMRIAT Pral 99T il degl =T
AT 3R AEHIATHS UTS.

4) /Y 907 7 9T 9 7 YhdT HIEl URT HrEIET TIT
H.

Question no. 89 : As a citizen you have some work with
government department. The official calls you again and
again and without directly asking you, sends out feelers for
a bribe. You want to get your work done. What will you
do?
1) 1 will give a bribe.
2) Behave as if |1 have not understood the feelers
and persist with my application.
3) | will go to the higher officer for help verbally
complaining about feelers.
4) 1 will send a formal complaint.
U . 89 : U WRBN PHRfcia fAumma smuer fafdrs

U9 . 87 : INSAT Heda UG YERR Ileld 3R o)
TARTDIT STTDRT AT AT TR 3N BT TTeATe ?
1) YERR HRAFET AUSedT hadiay HSh HRATS

PR,

2) YEERMS ATTelld el ol g drefell g @
T YIS BIel AVERIET QA g q| 9=
MY g9 B Mg Il SATuitg HHAIAT S
TS YEER BIUR ATE! 90T IqoUTe} I=0N IEaUlR.

3) YEER B THA Mg SN SHARIAT  AASGH
AN,

4) YEEIRTT IRUTHR ST SHAIAT QUK.

WOUd P IR, WG G USRI JrElel  dNaR
PR SiAad! g MRl ‘A’ ARl 9deT
FRAR. 31e IR Tl B IR ?

1) &/ JUR.

2) PR VTN AT ARVATAT YRIT P el
T ThS etel HIUIR.

3) frmraTeaT @Ta YvgTST ITH qAATAT AR
RS ARFITRS Aigd TPR FOI AT AR
fAquamET T FHRUIR.

4) IR AfBETATES Gt THR PRUMR.




Question no. 90 : There is a school in your area. But it is
generally surrounded by people who keep on smoking and
drinking. Thus it is almost impaossible for children to learn
there. You would .......
1) stop admitting children in that school.
2) go to the police for necessary action.
3) form a pressure group for taking action against
them.
4) request those people to vacate the place on behalf
of all parents.
U 3. 90 : AT URTRIA U T 3R, URg T LMMese
Sfachad! YHUM g T dROR Al RIS el

TR0t ST STaw 31T BId 3TR. Tl ...

1) AT AT BT YIS HVITIRTT URTG HRUIR.

2) AMATH PRIAIENAIS! GiferTis STUR.

3) T ABifAeg Feit HRUAAS! IFTATE TIR FRUMR.

4) 94 USRIl TN T ABET MBI IR
STV ARIUTR.

OBJECTIVE PAPER ENDS HERE

PART — 11 /4w - 3

Write an essay on ANY ONE of the following topics in
about 600 to 650 words. ] )
Greflelddh HIVATE Tl fAsATaR 600 o 650 gregia fAae
ferar.

NOTE : Separate answersheet will be provided for
writing an essay at 1.00 pm.
e : FdteReaTd! aTet STRUfeT gURY 1 arerar
ugTd A,
1. Common Man and politics.
FAAHIT AR 3107 I[STHRY]
2. Impact of public festivals on environment.
AT Icqard gafaromaR gromR gRorm,
3. Role of Science and Technology in Economic
development of India — Describe.
ARG MR feprae faei @ el YHepr— d@ie
quie .
4. Electoral Reforms — How far have we reached?
faeue guRum — 3mour fohcht ATl et 3R 2
5. Education and Human Resource Development.
freror SnTfor weel AT far

PAPER ENDS HERE
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SioRle greer Wifiicrel ST et Aok & S Sug, T,
ST, aridsax wauf ader &g, gerer, @

ITeATDRRIT
RE TS oY T Walcpedl &g, Al. aifsar wgifaeme™, qo
it amefRrE ot
9T URIET
98 : ol o 3ferepa™ or : 300

T
1. TiET GH AR oROd g VAN Bral 9 B fhar wieae mea &1 fhar wEl 9= fhar ued Tge e
3N T ¢ TUTAT. TN INICATH g WA aANGS!t AT HeAwd =1
2. 9roeTl feiedn <epiTa o udien shaie forer. cam eafaRerd ar HemmeR Pl forg e,
3. 1 U TR A ST @lelers Il fHTerel STTed.

QU | O | FeA w6 ghIeaT SRS §8
e
g -1 | 50 | 100 ERGIRL T GeHIeAT SRS T (eI oT &5

qr -2 | 40 | 100 ERGIRL 7. . 85 T 90 IR T Febredl ITRMISH T JR1eT Iuim &8
9 - 3 1 | 100 | &Y o -

Uh U9 ST SN IRIST HE BUcll 3R, UAP U IR YA fieiel 3Mgd. ATdd! 3R Uh waig fasr it S
T STRURNDER AlGardT M. SR Jrelel Thiar Afih i aRIeR aied Sdiel IR Tl Grelell aIeuIRT Jafd amg
T Aicdr. PIATE! TIARIS $ad Ty iy fasr.

4. |4 90 FRI(TS YR IR (YT 1 g 2) Fhd! 11 T IR 1 AT I JraTell ATITS! feied Tes SRupaRd AlGanrd!
3Tee.

5. GRS U STRUBIDGT QURT 1 dridl WRd Hdel! Ssdl d FEY @ISt (WA - 3) del IRubpl QU Use.
Feteie Tl d% gURI 1 d 2 3Riel. URI 2 dofdl FeUelgr STRUBD! JHedihg] W Hdell sl HIuTg!
aReRfid I aRgTE TerEl SR GURT 1 FaR feifdem AR AT  Fatieras gURT 1 gaf G el YUK TEL,

6. SIRUGIDER I AlGAuaTd! grelell ITRuBFDaR fAfRreATfedt R g, & wifedt Jreren feiean vaer ufdher 37,

7. |9 Y W Alegy QU SedoR AT WRieT HUCAHOR Jrelell Uidaipihe Wad SuRUTAST STl M2, &1 HeTd
g S0 ReTell URATTT 3. QURT 12 droiuaTgd! qral WRISTee JTeR TS5 2PUIR Ta.

. oI P IROINIAIS! AT TTFATT aet Pral ST et 37Te.

9. YHredT ITRIHRIAT T8 :

TG Ue $HHih 85 O 90 fIRed | 1 d | 2 AL SR WA gobid IR Alfun=ar wiameffr <8 ot
ST, We SHids 85 O 90 AT YT JhIAT ITRITSH S8 Bl SR T,
) UP Ul IR TaRl S el amed. wanea ™ oo dRid ghiedT ITRI/AIS! T Ul SRieiedT uneal
T JfrieT 0T S8 FgUT Pluel ST,
i) SR giemedi et UeATIS! Tehia SR SR Algidet! R SR T TG TR SRR 3R aRigl d SR g
Yol STEcl g ATATST RITYHTY €8 dhell STTea.

i) SR TN U SR AlGfderd AR aR T UARIS! PHIVATE! S dell SR ATa.
10. 31 weigrn fepret R, 31.12.2014 Ash fehar waiax sm=ar www.yashada.org/acec a1 a8¥TSeaR ¥ el SSel.

S odd Jreren Hiflider ST 1 e &1 HeRiT Sug, .

Note : English version of the instructions is printed on the front cover of this Booklet.




